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“Cost Accounting is a system of foresight anq Nog 1
q

J

mortem, it turns losses into profits, speeds Up agy
4

: L
and eliminates wastes.” Do you agree ? x

The following information is related to Materiy X

Maximum Consumption  600 units per Moy
“Minimum Consumption. " !00 unit.‘é per‘mgmk
Normal ansurﬁptibn e 30ﬁ' units per mopg
'Yearl):e“ Consumption = 3,600 uﬁits
Stora-gel CqSt. _' | 50% of Sfock Yalu
| Ordering Costs - ‘Rs. 40_0‘ per order
Price of Material '. : Rs. 64 pr1‘ unit

Find out :

() Re—ordcr Level

(i)  Minimum-Stock Level
(i) Maximum Stock Leve]

()  Average Stock Level.
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(4) . ™
Or (31a)

(a) ,Disfinguish between :

)] | F‘ixed and Variable Costs

) Direct. and Indirect Costs

(iify Cost Control and Cost Reduction. 6
(b) Prepare Store Lédger using_“Weighted A_vel‘ag¢ Methqda
| of valuing the material issues from the following detaijjs

of sfore receipts and issues of Material “A” 2

- Opening Stock 2,000 units @ Rs. 5.00 each

-Mérch- 1
3 Issued 1,500 units
-4 Received 4,5_00 units @ Rs. 6.00 each

-

7 Issued 1,600 units
8  Returned to stores 100 units by production

department from the issue of March 3

15  Received 2,400 units @ Rs. 6.50 each

18  Returned to suppliers 200 units from [hei

material received on March 4

o
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(5)°
TN

% Received 1,000 units @ R, 700'ea.ch

26 Issued 2,100 uﬁits

27 Received 1,200 units @ Res, 7.50 each

31 Issued 2,800 units

Use rates up to two decimal places. What ijs the
‘q'uantity. and value of the material consumed in the

month of March ? - | 9
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(b)

total factory overheads incurred
= 44,00,000 and

the labour hours actually workeq
| : were | 50 000 0
: =LYUY, Dt of

the 40,000 units produced during a pefiod 30,000 un;
| . y SV, units

were sold. On analysing the reasons, it was found that

60% of the unabsorbed overheads were due to defective
planning_aﬁd Fhe rest were due to increase in overhead
costsf How woﬁld hnabsorb_e_d dvérheads be treated' in
R M T S, e 3 6

Briefly explain : -
()  Difference befwgen allocation, apportionment and
absorption of overheads

| o _— d
(i) Difference between Joint Products an

' By-products

" in Cost
(iii) Treatment of interest on capital
| 9
Accounts.
P.T.O.

i
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e ——————

Or (31'9]31)

A manufacturing company has two identical large andwfi

identical small machines. Each large machine occupies one 4

fully two workers. The workers are paid by piece work
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R

Each o te six machies s esml"“ated 10 Work 1,440 oy
S per

‘ i while the. effective worklng llfe is taken a5 12,000 workmg

- pours for each large machine and 9,0 workmg hours for each -
small machme Large machmes Cost R, 20,000 each and small

mach' nés Rs. 4 000 each Scrap values are Rs 4,000 and Rs. 100

‘ : rf:Sll"’c“vely

'Repalfs’ mamtenance and oil are estlmated to cost for each large !
machme Rs. 4,000 and each small machme Rs 1,200 durmg its

effective llfe

Power consumptlon costs 5 p per unit and consumpnon for-

-4 large machme 13 20 umts per hour and for a small machine

2 units per hour _
N

The manager is pald Rs. 4 800 per year and workshop supemslon_

occuples half of hls tlme whlch is. dwlded equally among the

six machmes

Al

Rent and rates to the workshop total Rs. 6 400 a year and lighting
(to be apportloned in the ratio of workers employed) 1,820 a

year . | . ; '

¥ &

Taking a period of three months as a basis, calculate the
Machine hour rate for a large machine arid a small 'm'aehine_

respectively, o d® E0R P 0 R IR -k

CPTO. -
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W%Wﬂmﬁﬁﬁﬁﬁ,mw.qﬁaﬁm

& o ggsmﬁla FA W 1,820 % Rt o ey £ frd
P L L T
§ g ® w9 E T R ol o, i
g 9 T FFE WA S o v
., y Ltd. furniﬁ,hed ;h'e 'folléwin'gl 'iﬁfoﬁnafibn f_'ér 10,000 TV valves

mauufactuféd during.the_ yéar ending 3]st March, 2017 :.

- Rs.
IMaterlial" o & tn ol i gt  1 | 90,000
;-l Diréct_-Wages' B -' : s 5 Bsh | : 60,000
| Power and Coﬁsﬁﬁlable'Smms_ ' ‘_ : . -12,0'0'0
? Indirect Wage;sl . | TN LN | "‘15,0(1]0 ‘
- Far;tolry Lighting | PR A e L5500

L

 Defective Work (Cost of Rectification) © - © = 3,000

.’E'J'.,Salari;s and Managément' Expénseé_ o350

3 _- Selling Expenses - | L 5,500
o -Sale Procéeds of Scrap | | J ) . 2,000 -
| Plant Repair and D-e:preciati'l:m P 11,500 9

TR L | g o

iy S
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Th : (12). ‘ o .7792‘
1The net selling p 6w | il
g price was Rs.'31.60 per unit sold and a"’unil,

' 'were sold. A
| s from Ist April, 2017, the selling price was Feduce

to Rs
31 per uniit, It was estimated that productlon could be

capacnty. Rates

m
creased m 2017-18 by’ 50% c1ue to spare
10%.

m
aterlals and dlrect wages w:ll mcrease by

Prepare | '
) Cost Sheet for the year 20]-6-_1 7 showing yarious-elemen

f cost per umt and
ofit for 2017-18 assuming

(if) ‘Estlmated cost and pro
15 000 unlts wﬂl be produced and sold during the yex
and factory overheads will be recovered as a percemaa

4 Tof dlrect wages and oﬁ" ce and sellmg expenses as
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guish between Job Costing, Contract Costing ang

~ Proce
s Costlng Name any fwo industries each in n which 3

«”y these costing type would be suitable. 6

(b)_ A construction coﬁmany 'undertook a contract at an'f
- estimated price of Rs. 108 lakh, which includes a budgeteg I |
_ proﬁt of Rs. 18 lakh. The relevant data for the year ended -

315t March 2015 are as under

-"N\

_Rs‘,om

Materials issued -to 51tcs St L o 5,000
Ijifeét wages_pzii.d- : ey 2 v | 3,800
Plant hired . . ™ |

Site office cost . . | m |

. Matefials,-retuméfl from site
¥ . K g - . L -': ;
Direct expenses . fa T - 0
. ‘Work ceftiﬁed
Progress payment recewed

A 5pec:1al plant was purchased spécifically for this contﬁf‘“_

at Rs. 8 lakh. After use on this contract t:ll the end "E.- i

31st March, 2015 it was va]ued at Rs 5 lakh. The ood

- of material at site at the end of the year was estlmilted "

*
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(15) 70
gt Rs 18 lakh. Direct wages accrued as on 3 st Marc.h

5015 was. Rs. 10 000. Prepare Contract A/c for the year
ended 31st March 2015 and compute the prof' ttobe taken

to the Profit and Loss A/c "
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Rakesh owns a bus whlch runs accordmg to the f0“0wing

schedule

(’9

Delh1 to Chandlgarh and back the same day, Drstance

covered 150 kms one ‘way; Number of days run each

month 8 Seatmg capacnty OCClipled 90%

(n) Delh1 to. Agra and back the same day, Dlstance

. covered 120 kms one way; Number of days run each

month 10 Seatmg capacity occupred 85%. .

- (#if) . Delhi to Jalpur and back | the same day, Drstanc'e

- covered : 270 kms. one way; Number of days run ead

 month : 6; Scatmg capamty occupled 100%. ~

- '.,The fo]lowmg are thc other'detallsl.:

Cost of the bus % FON Rs,'6.0,00,000'
Salary of‘dri_ver . A /Rs. 20,000'p.rﬂ-
Salary‘of conductor - II . Rs.20,000pm
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LL7) 7192

— part time accountant Rs. 10,000 p.m, -
pSurance of the bus  Rs.48000 pa
piesel consumption 4 km.s. per litre @ Rs. 40 per litre
Road tax e | Rs. 12,000 p.a. |
Libricaﬁt oil . | | - Rs. 10 per km
permit fee ‘- . Rs.4,600 p.m.
Repairs aﬁd_ maintehan_ce ~ Rs. 14,400 p.m.
Deprec.iation of the bﬁs - te dig @ 20% p.a.
Seatiﬁg capacity of _the' bus 50 pérsons

Passenger tax is 20% of the_._fotal takings. Calculate the bus fare
to be charged from each passenger to earn a profit of 30% on
total takings. The fares are to be indicated per passenger for
the journeys from :
(:) Delhi to Chandigarh F
" (i)  Delhi to Agra
Gii) " Délhi to Jaipur. 15
T & I U 99 § 9 Frefafen SIgH & SgER
) et ¥ dirg olR o s &F; g @@ R
TR 150 fE. U W mq@aﬁﬁﬂ’raﬁ o
e 3; Wl #Y AT H190% AN TS -
; P.T.O.
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- Or (M)

‘Find out the equivalent proddction from the following

(a)
data under. fhe FIFO ‘method
Opé“i“g Wi Iny ngf?SS' % 4,000 units
Dégree of complgtion :. Mater_ials . 80%
Labour 60%

. Ovérheads - Gﬁ“A

Units introduced 16,000 units

6,000 units

Closing'work in prbgress »
)
Degree of cofnbletioﬁ . Materials 80%
Labour 60%
| -Overhéads 60%
Assume there were no ptoceé_s losses- 6 |
: P.T.O.
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(b)

.. process | becomes th

()

(20) -
o

A product passes through two processcs. The oty
¢ input of process 1. The - €
.

of raw materials introduced in process one is 20’%‘“

at Rs. 10°per kg. The cost and output data for the g
as follows :
~ Process I Proces "

Direct materials Rs. 60,000  Rs. 40,0

Direct labour Rs. 40,000 Rs. 30,09

Production overheads N Rs. 39,000 Rs. 40,25€=
Normal loss 8% -
Output (in units) g0 1@
. 200 300

Loss realisation of Rs./unit

The__compaﬁy’s policy is to fix the selling price of
end product in such a way as to yield a profit of ¥

on selling price. Prepare Process A/c -and determine

selling price per unit of end product. 4

Flpoﬁﬁliﬁﬁzﬁﬁﬁﬁlf@?la‘ﬁ@@rmgﬂw

A I ;o |

IR H Fd wifd W 4,000 3

i w wfe g 80%
T s G

=TT 0%
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(:22°) . 7791
s, The following figures werc available for a company fq, N

year ended 31st March, 2017 :
Finahcial Alc - Cost A

Factory expeﬁses

‘Sales

Administration expenses
Selling expenses
Financial expenses

Interest received

(Rs.) (Rs.)
Opening Stock : |
Raw Material 6,000 5,000
. Work-in-progress _7,000. 6,500
Finished Stock 5,000 4,500
Closing Stock ©
kaw Material | 4,000 4300
Work—in-progressl 3,000 3700
Finished Stock 59 6200
.Purchdses I’ 40,000
Direct wages 20,000 |
Indirect wages 3,000

17,000 21,000 (absork
1,10,000

3000 2,300 (absor
4,000 4’,500 (abso®

1,000 |

1,600
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(23)
Compte the profit in Financia] Accounts 5 well as in ¢
I In Cost
Accolmts and prepare Reconciliatigp Statement Showing lear]
Clearly

ihe reasons for the variations of the tWo profit

figures. 15
- PfdE o
(%) -(vs.)
' aﬁfﬂﬂﬁi - a0 5000
| ELRERINRT 0 6
. WRE® 5o '. 4500
ST T ) 400 4,360
R | 300 370
e I C 500 6,200
e 000
WHW PN 20,000 ’
S HRE 3000 '
o 3 17000 21,000 (rrRA)

faat 110,000
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R ey %
o s . © 3000 2390 (aaaqhﬁm'
| - 4000 4,500 (g, |
Toxity )
‘ @% o 1,000 ‘
ST o e

é@aﬁ-{mqﬁmﬁ@lmﬁmm Ay
IR SR S o Ao o fred o 5 4 |
HFet A faferran @ frg ol A o w9 4
Or '(amaT)
@ Whiat'is: Integrafed Accounting ? State its advantageé. 6
() Write short notes on |

() Perpeltual inventory system

(i)  Activity Based Costing

(iir)  Idle time.

L) R Soned
(S e T
(#ii) fafera qad |

24
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